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MoABaI 1 IOABAJI 50,1 50,1

2 [o/1BaJI 66,8 66,8

3 IOABAJI 29,7 29,7

4 Ho/iBal 48 48

5 IOABAJI 66,8 66,8

6 [o/1BaJI 51,3 51,3

7 OIBAJI 16,8 16,8

9 [oABaJI 17,9 17,9

10 OIBaI 14,7 14,7

11 [o1BaJI 14,3 14,3

13 OIBAJI 43,0 43,0

14 [oABaJI 43,9 43,9

15 OIBAJI 65,7 65,7

16 [oABaJI 60,9 60,9

17 IOBaJI 72,8 72,8

18 [oABaJI 66,7 66,7

19 IOBaJI 454 45,4

21 [oABaJI 19,3 19,3

22 IOBaJI 72,8 72,8

23 [OABAII 66,5 66,5

24 TIO/IBAJ 66,0 66,0

25 Mo(BaI 64,4 64,4

26 TIO/IBAJ 54,3 54,3

27 [OABAII 105,7 105,7

28 HO/(BAJT 86,5 86,5

29 [OoABAII 17,2 17,2

31 o IBaJI 56,8 56,8

32 [OoABAII 15,9 15,9

uoro 1400,2 1400,2
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A 1 1 1 JKHIIast 20,1 20,1
2 caHy3en 45 45
3 JKHJIast 16,9 16,9
4 KOPHAOD 14,9 14,9
5 KyXHS 17,2 17,2
6 Kuas 15,8 15,8
7 Tyajer 2,4 2,4
UTOro 91,8 52,8 39,0
0OaIKoOH 1,0
JIOKUSA 2,8
2 1 Kuas 17,5 17,5
2 KyXHS 11,9 11,9
3 caHy3en 45 45
4 KOPHUIIOP 75 7,5
HTOro 41,4 17,5 23,9
OaJIKOH 11
3 1 JKUIas 16,3 16,3
2 KyXHsI 12,6 12,6
3 caHy3en 4,3 4,3
4 KOPHIOP 7,6 7,6
HTOIr0 40,8 16,3 24,5
GaJIKOH 1,2
4 1 JKUIas 17,6 17,6
2 KyXHSI 12,7 12,7
3 caHy3en 4.4 4.4
4 KOpHIOP 79 79
HTOro 42,6 17,6 25,0
0OaaKoH 1,9
5 1 KUIas 13,3 13,3
2 SKUast 18,8 18,8
3 KyXHs 12,0 12,0
4 BaHHAas 3,0 3,0
5 TyajeT 2,1 2,1
6 KOPHIOP 8,8 8,8
UTOro 58,0 32,1 259
JIOJKUS 3,6
6 1 KHUITAs 17,0 17
2 SKHJIast 15,5 15,5
3 KyXH 13,3 13,3
4 BaHHast 2,8 2,8
5 TyajeT 1,6 1,6
6 KOpHUIIOp 11,7 11,7
HTOro 61,9 32,5 29,4
OaJIKOH 1,1
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1 7 1 JKHIIast 20,6 20,6
2 BaHHAsA 3,2 3,2
3 Tyajer 1,6 1,6
4 Kuas 15,8 15,8
5 KyXHS 13,3 13,3
6 KOPHAOD 9,1 9,1
HTOro 63,6 36,4 27,2
OaJIKOH 1,1
57 1 Kuas 16,8 16,8
2 Tyayuet 2,3 2,3
3 BaHHAs 3,5 3,5
4 JKUIas 15,3 15,3
5 Kuas 18,8 18,8
6 KyXHS 15,8 15,8
7 KOpHUIIOp 14,1 14,1
HTOrO0 86,6 50,9 35,7
OaIKoH 2,1
58 1 KUast 17,5 17,5
2 KYXHS 14,0 14,0
3 KOpHIOP 6,7 6,7
4 caHy3en 4,3 4,3
HTOro 42,5 17,5 25,0
0aIKoOH 1,1
59 1 KUas 18,1 18,1
2 KYXHS 13,1 13,1
3 caHy3en 4,3 4,3
4 KOPHZOp 8,2 8,2
HTOro 43,7 18,1 25,6
JIOIKHS 3,5
60 1 SKUIast 17,7 17,7
2 KyXHS 13,9 13,9
3 KOpHIOp 6,7 6,7
4 caHy3eln 4,3 4,3
HTOro 42,6 17,7 24,9
GaJIKOH 11
61 1 KUIas 16,8 16,8
2 Tyaner 2,4 2,4
3 BaHHAsA 3,6 3,6
4 SKHJIast 15,3 15,3
5 KUas 18,8 18,8
6 KyXHS 16 16
7 KOPHAOP 14,0 14,0
HTOr0 86,9 50,9 36
OanKoH 2,1
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A 1 97 1 JKHJIast 16,7 16,7
2 BaHHas 34 34
3 Tyajer 1,6 1,6
4 Kunas 17,1 17,1
5 KyXHS 10,9 10,9
6 KOpHUJI0p 9,1 9,1
UTOrO 58,8 33,8 25,0
0OaIKoH 1,0
98 1 JKHJIast 16,2 16,2
2 Kuas 13,3 13,3
3 KyXHS 12,2 12,2
4 Tyaner 2,2 2,2
5 KOPHUIIOP 14,7 14,7
6 BaHHAs 4.4 4.4
HTOrO0 63,0 29,5 33,5
OaJIKOH 1,1
99 1 Kuas 171 17,1
2 caHy3en 4,3 4,3
3 KOpHUJIOp 8,9 8,9
4 KyXHsl 12,0 12,0
HTOro 42,3 17,1 25,2
JTOJIKUS 3,2
100 1 JKuas 21,0 21,0
2 KUast 13,2 13,2
3 KyXHSI 13,6 13,6
4 Tyaner 1,6 1,6
5 BaHHs 3,3 3,3
6 KOpHIOP 13,8 13,8
UTOTO 66,5 34,2 32,3
JIOKUS 2,5
101 1 JKHIIast 16,5 16,5
2 caHy3eln 53 53
3 JKHIIast 17,3 17,3
4 KyXHS 15,5 15,5
5 Tyaner 2,1 2,1
6 KOpHIOp 91 9,1
UTOro 65,8 33,8 32,0
JIOJIKUS 3,1
137 1 JKUIas 17,1 17,1
2 Tyaner 2,2 2,2
3 BaHHAsA 3,6 3,6
4 SKHJIast 18,2 18,2
5 KyXHS 14,7 14,7
6 KOPHIOP 8,1 8,1
UTOrO 63,9 35,3 28,6
TIOJKHAS 1,7
OaJIKOH 1,1
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1 138 1 JKHJIast 17,8 17,8
2 KyXHS 12,7 12,7
3 caHy3en 4,3 4,3
4 KOpHIOp 7,9 7,9
HTOro 42,7 17,8 24,9
JIOIKUS 3,2
139 1 JKHJIast 17,8 17,8
2 KyXHsI 12,6 12,6
3 caHy3en 4,3 4,3
4 KOPHIOP 7,9 7.9
HTOro 42,6 17,8 24.8
JIOJKHS 1,7
140 1 JKHJIast 17,2 17,2
2 Tyaner 2,3 2,3
3 BaHHAS 3,7 3,7
4 Kuast 19,0 19
5 KyXHS 15,3 15,3
6 KOpHUJIOp 8,0 8,0
UTOro 65,5 36,2 29,3
OaJIKOH 1,1
HTOro no 1 3TaKy 1213,5 615,8 597,7
JIOKM U, OATKOHBI 43,4
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A 2 8 1 KHJIast 20,1 20,1
2 caHy3en 45 45
3 Kuas 16,9 16,9
4 KOpHUI0p 14,8 14,8
5 KyXHS 17,3 17,3
6 JKHJIast 15,6 15,6
7 Tyajer 2,4 2,4
HTOro 91,6 52,6 39,0
OaIKoH 1,0
JIOIKHS 2,8
9 1 JKHJIast 17,5 17,5
2 KyXHS 11,9 11,9
3 caHy3en 45 4,5
4 KOpHUIIOp 7,4 7,4
HTOro 41,3 17,5 23,8
OaJIKOH 1,1
10 1 Kuas 16,3 16,3
2 KYXHS 12,7 12,7
3 caHy3en 4.4 4.4
4 KOPHIOP 7,6 7,6
HTOro 41,0 16,3 24,7
OaJIKOH 1,2
11 1 SKHIIast 17,7 17,7
2 KyXHs 12,6 12,6
3 caHy3en 4,3 4,3
4 KOpHIOp 79 79
HTOro 425 17,7 24,8
OaIKoH 1,9
12 1 SKUIast 13,3 13,3
2 JKHJIast 18,7 18,7
3 KyXHS 12,0 12,0
4 BaHHAas 3,0 3,0
5 Tyanet 2,1 2,1
6 KOpHIOp 8,8 8,8
UTOI0 57,9 32,0 259
JIOIKHS 3,6
13 1 JKHIIast 17,0 17
2 KUIas 15,5 15,5
3 KyXHS 13,2 13,2
4 BaHHast 2,8 2,8
- B 5 Tyanet 1,5 15
6 KOPHAOP 11,6 11,6
HTOro 61,6 32,5 29,1
OanKoH 1,1
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2 14 1 KHJIast 20,5 20,5
2 BaHHast 3,2 3,2
3 Tyajer 1,6 1,6
4 JKHJIast 15,8 15,8
5 KyXHsI 13,3 13,3
6 KOpHUI0p 9,0 9,0
UTOrO 63,4 36,3 27,1
0OaIKOH 1,1
62 1 JKHJIast 16,7 16,7
2 Tyaner 23 2,3
3 BaHHAs 3,5 3,5
4 Kuast 15,3 15,3
5 JKUIas 18,8 18,8
6 KyXHS 15,9 15,9
7 KOpHUIIOp 14,1 141
HTOro 86,6 50,8 35,8
GaJIKOH 2,1
63 1 JKHJIast 17,5 17,5
2 KyXHS 14,0 14,0
3 KOPHIOp 6,8 6,8
4 caHy3en 4,3 4,3
HTOTO 426 17,5 251
GaJIKOH 1,1
64 1 JKUIas 18,1 18,1
2 KyXHS 13,1 13,1
3 caHy3en 4,3 4,3
4 KOPHAOD 8,2 8,2
UTOro 43,7 18,1 25,6
JIOJKUS 3,5
65 1 KHUITAs 17,7 17,7
2 KyXHS 13,8 13,8
3 KOpHIOp 6,7 6,7
4 caHys3en 4,3 4,3
HTOro 42,5 17,7 24,8
0aIKoH 1,1
66 1 JKHIIast 16,7 16,7
2 Tyajer 2,4 2,4
3 BaHHAs 3,6 3,6
4 KUIas 15,3 15,3
5 SKHJIast 18,8 18,8
6 KYXHS 16 16
7 KOpHUIIOP 13,8 13,8
HTOr0 86,6 50,8 35,8
OaJIKOH 2,1
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A 2 102 1 JKHJIast 16,7 16,7
2 BaHHas 34 34
3 Tyajer 15 15
4 Kuas 17,2 17,2
5 KyXHS 10,9 10,9
6 KOPHAOD 9,1 9,1
HTOro 58,8 33,9 24,9
OaJIKOH 1,0
103 1 JKHJIast 16,2 16,2
2 Kumas 13,4 134
3 KyXHS 12,2 12,2
4 Tyajer 2,2 2,2
5 KOPHUIIOP 14,7 14,7
6 BaHHAs 4.4 4.4
HTOrO0 63,1 29,6 33,5
OaJIKOH 1,1
104 1 Kuas 171 17,1
2 caHy3en 4,3 4,3
3 KOpHIOP 8,9 8,9
4 KYXHSI 11,9 11,9
HTOTO 422 17,1 251
JTOJIKUS 3,2
105 1 JKHUITAs 21,1 21,1
2 KUast 13,2 13,2
3 KYXHSI 13,6 13,6
4 Tyaner 1,6 1,6
5 BaHHs 3,3 3,3
6 KOpHIOP 13,8 13,8
HTOro 66,6 34,3 32,3
JIOKUS 2,5
106 1 SKUnast 16,4 16,4
2 caHy3eln 53 53
3 SKUnast 17,6 17,6
4 KYXHS 15,5 15,5
5 Tyaser 21 2,1
o ) 6 KOpHIOp 9,1 91
HTOro 66,0 34,0 32,0
JIOJIKUS 3,1
141 1 JKHJIast 17,3 17,3
2 Tyaner 2,2 2,2
3 BaHHAsA 3,6 3,6
4 SKHJIast 18,3 18,3
5 KyXHS 14,7 14,7
6 KOPHIOP 8,0 8,0
UTOrO 64,1 35,6 28,5
o - JIOIKUS 1,7
OaJIKOH 1,1
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2 142 1 JKHJIast 17,8 17,8
2 KyXHS 12,6 12,6
3 caHy3en 4.4 4.4
4 KOpHIIOp 7,9 7,9
HTOro 42,7 17,8 24,9
JIOJKUSA 3,2
143 1 Kuas 17,8 17,8
2 KyXHs 12,6 12,6
3 caHy3en 4.4 4.4
4 KOPHUIIOP 7,9 7,9
HTOr0 42,7 17,8 24,9
TIOMKHS 1,7
144 1 Kuas 17,2 17,2
2 Tyayuet 2,3 2,3
3 BaHHAs 3,7 3,7
4 JKHJIast 19,1 19,1
5 KYXHs 154 154
6 KOPHIOP 79 79
UTOTO 65,6 36,3 29,3
OaJIKOH 1,1
HTOTO MO 2 ITAKY 1213,1 616,2 596,9
JIOKM U, OATKOHBI 43,4
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A 3 15 1 JKHJIast 20,0 20,0
2 caHy3en 45 45
3 JKHJIast 16,9 16,9
4 KOPHAOD 14,9 14,9
5 KyXHS 17,3 17,3
6 Kuas 15,7 15,7
7 Tyajer 2,4 2,4
HTOro 91,7 52,6 39,1
OaIKoH 1,0
JIOIKHS 2,8
16 1 JKHJIast 17,5 17,5
2 KyXHS 11,9 11,9
3 caHy3en 45 4,5
4 KOpHUJI0p 7,5 7,5
HTOro 41,4 17,5 23,9
OaJIKOH 1,1
17 1 Kuas 16,3 16,3
2 KyXHs 12,6 12,6
3 caHy3en 4.4 4.4
4 KOPHIOP 7,6 7,6
HTOI0 40,9 16,3 24,6
OaKOH 1,2
18 1 KUast 17,7 17,7
2 KyXHs 12,5 12,5
3 caHy3en 4,3 4,3
4 KOpHIOp 79 79
HTOIO0 424 17,7 24,7
OaIKoH 1,9
19 1 KUnast 13,4 13,4
2 KUIas 18,8 18,8
3 KyXHS 12,0 12,0
4 BaHHAas 3,0 3,0
- 5 Tyaner 2,1 2,1
6 KOPHIOp 8,9 8,9
UTOI0 58,2 32,2 26,0
- - JIOIKHS 3,6
20 1 SKUnast 171 17,1
2 KUas 15,5 15,5
3 KyXHS 13,3 13,3
4 BaHHast 2,8 2,8
5 Tyanet 1,5 15
6 KOPHAOP 11,7 11,7
— — UTOro 61,9 32,6 29,3
OaJIKOH 1,1
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3 21 1 JKHIIast 20,7 20,7
2 BaHHAsA 3,2 3,2
3 Tyajer 1,6 1,6
4 Kuas 15,8 15,8
5 KyXHS 134 134
6 KOPHAOD 9,0 9,0
HTOro 63,7 36,5 27,2
0anKoH 1,1
67 1 Kuas 16,7 16,7
2 Tyayuet 2,3 2,3
3 BaHHAs 3,5 3,5
4 JKHJIast 15,2 15,2
5 Kuas 18,8 18,8
6 KyXHS 15,8 15,8
7 KOPHAOD 14,0 14,0
HTOrO0 86,3 50,7 35,6
OaIKoH 2,1
68 1 Kuas 17,5 17,5
2 KyXHS 13,9 13,9
3 KOpHIOP 6,7 6,7
4 caHy3en 4,3 4,3
HTOro 42,4 17,5 24,9
0aIKoOH 1,1
69 1 KUas 18,1 18,1
2 KYXHS 13,1 13,1
3 caHy3en 4,3 4,3
4 KOPHIOP 8,2 8,2
UTOTO 43,7 18,1 25,6
JIOKUSA 3,5
70 1 SKUnast 17,7 17,7
2 KYXHS 13,8 13,8
3 KOpHIOp 6,7 6,7
4 caHy3eln 4,3 4,3
HTOro 42,5 17,7 24,8
GaJIKOH 11
71 1 JKHJIast 16,7 16,7
2 Tyaner 2,4 2,4
3 BaHHAs 3,5 3,5
4 JKHIIast 15,2 15,2
5 KUIas 18,8 18,8
6 KyXHS 16 16
7 KOPHAOP 14,0 14,0
HTOro 86,6 50,7 35,9
OaJIKOH 2,1
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A 3 107 1 JKHJIast 16,7 16,7
2 BaHHASA 3,4 3,4
3 Tyajer 1,6 1,6
4 KUas 17,1 17,1
5 KyXHS 10,9 10,9
6 KOpHUIOp 9,1 9,1
HTOrO 58,8 33,8 25,0
0aIKoOH 1,0
108 1 JKHJIast 16,2 16,2
2 Kuas 13,3 13,3
3 KyXHS 12,2 12,2
4 Tyaner 2,2 2,2
5 KOPHUIIOP 14,7 14,7
6 BaHHast 4,4 4.4
HTOTO 63,0 29,5 33,5
OaJIKOH 1,1
109 1 Kuast 17,2 17,2
2 caHy3en 4,3 4,3
3 KOpHIOp 9,0 9,0
4 KyXHsl 11,8 11,8
HTOI0 42,3 17,2 25,1
JTOJIKUS 3,2
110 1 JKHJIast 21,0 21,0
2 KUas 13,2 13,2
3 KyXHS 13,7 13,7
4 Tyaner 1,6 1,6
5 BaHHs 3,3 3,3
6 KOpHIOp 13,8 13,8
HTOI0 66,6 34,2 32,4
JIOKUS 2,5
111 1 JKHIIast 16,5 16,5
2 caHy3el 5,3 5,3
3 JKUIast 17,4 17,4
4 KyXHs 15,4 15,4
5 Tyaner 2,1 2,1
o __ 6 KOpPHIOp 9,0 9,0
HTOI0 65,7 33,9 31,8
JIOJIKUS 3,1
145 1 JKUIas 17,2 17,2
2 Tyaner 2,1 2,1
3 BaHHAsA 3,6 3,6
4 SKHJIast 18,2 18,2
5 KyXHS 14,6 14,6
6 KOpHUIIOP 8,0 8,0
HTOro 63,7 35,4 28,3
o - JIOJKHS 1,7
OaJIKOH 1,1
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3 146 1 KUIIast 17,8 17,8
2 KyXHS 12,6 12,6
3 caHy3eln 4.4 4.4
4 KOPHIIOp 7,9 7,9
HTOro 42,7 17,8 24,9
JIOJKUSA 3,2
147 1 KUIast 17,8 17,8
2 KyXHS 12,6 12,6
3 caHy3en 4,3 4,3
4 KOPHUIIOP 7,9 7,9
HTOTO 42,6 17,8 24,8
TIOMKHS 1,7
148 1 Kuast 17,2 17,2
2 Tyayet 2,3 2,3
3 BaHHAs 3,7 3,7
4 JKUIas 18,9 18,9
5 KyXHs 15,4 154
6 KOPHZOP 8,0 8,0
HUTOTO 65,5 36,1 29,4
OaJIKOH 1,1
- HTOr0 10 3 3TaKy 1212,6 615,8 596,8
JIOKM U, OATKOHBI 43,4
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A 4 22 1 JKHJIast 20,1 20,1
2 caHy3en 45 45
3 JKHJIast 16,8 16,8
4 KOPHAOD 14,8 14,8
5 KyXHS 17,2 17,2
6 Kuas 15,6 15,6
7 Tyaler 2,4 2,4
HTOro 91,4 52,5 38,9
OaIKoH 1,0
JIOIKHS 2,8
23 1 JKHJIast 17,5 17,5
2 KyXHS 11,9 11,9
3 caHy3en 45 4,5
4 KOpHUIIOp 7,4 7,4
HTOro 41,3 17,5 23,8
OaJIKOH 1,1
24 1 Kuas 16,3 16,3
2 KyXHs 12,6 12,6
3 caHy3en 4.4 4.4
4 KOPHIOP 75 75
HTOro 40,8 16,3 245
OaKOH 1,2
25 1 KUast 17,7 17,7
2 KyXHs 12,6 12,6
3 caHy3en 4,3 4,3
4 KOpHIOp 79 79
HTOro 42,5 17,7 24,8
OaIKoH 1,9
26 1 KUnast 13,3 13,3
2 KUIas 18,8 18,8
3 KyXHS 12,1 12,1
- B 4 BaHHAas 3,0 3,0
) 5 Tyaner 2,1 2,1
6 KOpHIOp 8,8 8,8
- ) HTOro 58,1 32,1 26,0
- B JIOIKHS 3,6
27 1 SKUnast 171 17,1
2 KUas 15,5 15,5
3 KyXHS 13,2 13,2
4 BaHHast 2,8 2,8
5 Tyanet 1,6 1,6
6 KOPHAOP 11,7 11,7
— — UTOro 61,9 32,6 29,3
- - OaJIKOH 1,1
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4 28 1 JKHIIast 20,6 20,6
2 BaHHAsA 3,2 3,2
3 Tyajer 1,6 1,6
4 Kuas 15,8 15,8
5 KyXHS 13,3 13,3
6 KOPHAOD 9,1 9,1
HTOro 63,6 36,4 27,2
0anKoH 1,1
72 1 Kuas 16,7 16,7
2 Tyayuet 2,3 2,3
3 BaHHAs 3,5 3,5
4 JKUIas 15,3 15,3
5 Kuas 18,7 18,7
6 KyXHS 15,8 15,8
7 KOpHUIIOp 14,1 14,1
HTOrO0 86,4 50,7 35,7
OaIKoH 2,1
73 1 KU 17,4 17,4
2 KyXHS 14,0 14,0
3 KOpHIOP 6,7 6,7
4 caHy3en 4,3 4,3
HTOT0 424 17,4 25,0
0aIKoOH 1,1
74 1 KUas 18,0 18,0
2 KyXHS 13,0 13,0
3 caHy3en 4.4 4.4
4 KOPHIOP 8,2 8,2
UTOTO 43,6 18,0 25,6
JIOKUSA 3,5
75 1 JKHIIast 17,7 17,7
2 KYXHS 13,8 13,8
3 KOPHIIOP 6,6 6,6
4 caHy3eln 4,3 4,3
HTOro 42,4 17,7 24,7
GaJIKOH 11
76 1 JKuIas 16,7 16,7
2 Tyaner 2,4 2,4
3 BaHHAs 3,5 3,5
4 JKHIIast 15,2 15,2
5 KUIas 18,8 18,8
6 KyXHS 16 16
7 KOPHAOP 14,0 14,0
HTOro 86,6 50,7 35,9
OaJIKOH 2,1
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A 4 112 1 JKHJIast 16,6 16,6
2 BaHHAas 34 34
3 Tyajer 1,6 1,6
4 KUas 17,1 17,1
5 KyXHS 10,9 10,9
6 KOpHUIOp 9,0 9,0
HTOrO 58,6 33,7 24,9
0aIKoOH 1,0
113 1 JKHJIast 16,2 16,2
2 Kuas 13,3 13,3
3 KyXHS 12,2 12,2
4 Tyaner 2,2 2,2
5 KOPHUIIOP 14,7 14,7
6 BaHHast 4,4 4.4
HTOTO 63,0 29,5 33,5
OaJIKOH 1,1
114 1 SKHJIast 17,1 17,1
2 caHy3en 4,3 4,3
3 KOpHIOp 9,0 9,0
4 KyXHS 11,8 11,8
HTOI0 42,2 17,1 25,1
JTOJIKUS 3,2
115 1 JKHJIast 21,0 21,0
2 KUas 13,3 13,3
3 KYXHSI 13,6 13,6
4 Tyaner 1,6 1,6
5 BaHHS 3,2 3,2
6 KOpHIOp 13,4 13,4
HTOIr0 66,1 34,3 31,8
JIOKUS 2,5
116 1 SKUnast 16,5 16,5
2 caHy3el 52 52
3 KU 17,5 17,5
4 KYXHS 15,4 15,4
5 Tyaner 2,1 2,1
o __ | | 6 KOpHUJI0p 9,1 9,1
HTOro 65,8 34,0 31,8
JIOJIKUS 3,1
B KHas 17,1 17,1
2 Tyaner 2,2 2,2
3 BaHHAsA 3,6 3,6
4 SKHJIast 18,2 18,2
5 KyXHS 14,6 14,6
6 KOPHIOP 8,1 8,1
HTOro 63,8 35,3 28,5
o - I | JIOJKHS 1,7
I | OaJIKOH 1,1
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4 150 1 KHUJIast 17,6 17,6
2 KyXHs 12,4 12,4
3 caHy3el 4.4 4,4
4 KOpHJIOP 7,8 7,8
HTOI0 42,2 17,6 24,6
JIOJKUSA 3,2
151 1 KHUJIast 17,6 17,6
2 KyXHS 12,5 12,5
3 caHyse 4,4 4,4
4 KOPHUIIOp 7,9 7,9
HTOT0 42,4 17,6 24,8
JIOJKHUS 1,7
152 1 Kuast 171 17,1
2 TyaleT 2,2 2,2
3 BaHHAs 3,6 3,6
4 JKUIas 18,8 18,8
5 KYXHS 15,5 15,5
6 KOPHTIOp 8,0 8,0
HTOT0 65,2 35,9 29,3
OaJIKOH 1,1
N HTOTO 110 4 >TaKy 12103 | 6146 595,7
JIOKM U, OATKOHBI 43,4
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A 5 29 1 JKHJIast 20,1 20,1
2 caHy3en 45 45
3 Kuas 16,7 16,7
4 KOpHIOp 14,8 14,8
5 KyXHs 17,3 17,3
6 JKHJIast 15,6 15,6
7 TyajeT 2,4 2,4
HTOro 91,4 52,4 39,0
0OaIKoH 1,0
JIOKUSA 2,8
30 1 Kuas 17,5 17,5
2 KyXHS 12 12
3 caHy3en 45 45
4 KOpHIOp 74 7.4
HTOro 41,4 17,5 23,9
OaJIKOH 1,1
31 1 JKUIas 16,3 16,3
2 KyXHsI 12,6 12,6
3 caHy3en 4.4 4.4
4 KOpHUJIOp 75 7.5
HTOTO 40,8 16,3 24,5
GaJIKOH 1,2
32 1 Kusas 17,4 17,4
2 KyXHSI 12,6 12,6
3 caHy3en 4.4 4.4
4 KOpHIOp 79 79
HTOTO 42,3 17,4 24,9
OanKoH 1,9
33 1 KUIas 13,3 13,3
2 SKUIast 18,8 18,8
3 KyXHs 12,1 12,1
| | 4 BaHHAas 3,0 3,0
5 TyaJjeT 2,1 2,1
6 KOPHIIOP 8,8 8,8
T | HTOro 58,1 32,1 26,0
JIOJKUS 3,6
34 1 JKuIas 17,1 17,1
2 SKHJIast 15,5 15,5
3 KyXHsI 13,3 13,3
4 BaHHast 2,8 2,8
5 TyajeT 1,6 1,6
6 KOpHUIIOP 11,7 11,7
T | HTOro 62,0 32,6 29,4
| | 0aJIKOH 11
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5 35 1 JKHJIast 20,6 20,6
2 BaHHast 3,2 3,2
3 TyajeT 1,6 1,6
4 JKHIIast 15,7 15,7
5 KyXHs 13,4 13,4
6 KOpHIOp 9,1 9,1
HTOro 63,6 36,3 27,3
0OaIKoH 1,1
77 1 JKHJIast 16,8 16,8
2 Tyaner 2,3 2,3
3 BaHHAs 3,5 3,5
4 Kuas 15,3 15,3
5 JKUIas 18,7 18,7
6 KyXHS 15,9 15,9
7 KOpPHJIOP 14,1 14,1
HTOro 86,6 50,8 35,8
OaJIKOH 2,1
78 1 JKUIas 17,4 17,4
2 KyXHS 13,9 13,9
3 KOpHUJIOP 6,7 6,7
4 caHy3en 4,3 4,3
HTOTO 42,3 17,4 24,9
GaJIKOH 1,1
79 1 JKUIas 18,1 18,1
2 KYXHS 13,0 13,0
3 caHy3en 4,3 4,3
4 KOPHAOD 8,2 8,2
HTOr0 43,6 18,1 25,5
JIOJKUS 3,5
80 1 KUIas 17,6 17,6
2 KyXHS 13,8 13,8
3 KOpPHIOp 6,7 6,7
4 caHysen 4,3 4,3
HTOI0 42,4 17,6 24,8
0aIKoH 1,1
81 1 SKUnast 16,8 16,8
2 Tyajer 2,4 2,4
3 BaHHAs 3,6 3,6
4 JKuIas 15,2 15,2
5 SKHJIast 18,8 18,8
6 KYXHS 16,1 16,1
7 KOpHUIIOP 14,0 14,0
HTOr0 86,9 50,8 36,1
OanKoH 2,1
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A 5 117 1 JKHJIast 16,7 16,7
2 BaHHAas 34 34
3 TyajeT 1,6 1,6
4 JKUITAs 17,2 17,2
5 KyXHs 10,9 10,9
6 KOpHUIOp 9,0 9,0
HTOro 58,8 33,9 24,9
0OaIKoH 1,0
118 1 JKHJIast 16,2 16,2
2 KHJIast 13,4 13,4
3 KyXHS 12,1 12,1
4 TyaneT 2,2 2,2
5 KOPHUIIOP 14,7 14,7
6 BaHHast 4,4 4.4
HTOTO 63,0 29,6 33,4
OaJIKOH 1,1
119 1 Kuas 171 17,1
2 caHy3en 4,3 4,3
3 KOpHIOp 9,0 9,0
4 KyXHS 11,9 11,9
HTOI0 42,3 17,1 25,2
JTOJIKUS 3,2
120 1 JKHJIast 21,0 21,0
2 KUast 13,3 13,3
3 KYXHSI 13,6 13,6
4 Tyaner 1,6 1,6
5 BaHHS 3,2 3,2
6 KOpHIOP 13,8 13,8
UTOro 66,5 34,3 32,2
JIOKUS 2,5
121 1 JKHIIast 16,5 16,5
2 caHy3el 52 52
3 KHJIast 17,6 17,6
4 KYXHS 15,4 15,4
5 Tyaner 2,2 2,2
| | 6 KOpHI0p 9,1 9,1
HTOro 66,0 34,1 31,9
JIOJIKUS 3,1
3] 1 KHas 17,1 17,1
2 Tyaner 2,2 2,2
3 BaHHAs 3,7 3,7
4 SKHJIast 18,3 18,3
5 KYXHS 14,5 14,5
6 KOpHUIIOP 8,0 8,0
HTOro 63,8 35,4 28,4
o - | | JIOJKHS 1,7
I | OaJIKOH 1,1




IKCIVNIMKALINUA

K M03TAKHOMY ILIaHY KMJIOT0 10MAa, PACIOJI0KEHHOT0 B rop. (moc.)  SpociaBib
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5 154 1 KUIIas 17,8 17,8
2 KyXHS 12,6 12,6
3 caHy3eln 4,3 4,3
4 KOpHIIOp 79 79
HTOI0 42,6 17,8 24,8
JIOJKUSA 3,2
155 1 KUIIas 17,7 17,7
2 KyXHS 12,4 12,4
3 caHy3en 4.4 4.4
4 KOPHUIIOP 8 8
HUTOTO 42,5 17,7 24,8
JIOIDKHS 1,7
156 1 Kuas 17,0 17
2 Tyayuet 2,3 2,3
3 BaHHAs 3,7 3,7
4 JKUIas 18,9 18,9
5 KyXHsl 15,4 15,4
6 KOPHZODP 8,0 8,0
HTOI0 65,3 35,9 29,4
OaJIKOH 1,1
|
T UTOTO 110 5 FTaKy 12122 | 6151 597,1
- - JIOKM U, OATKOHBI 43,4




IKCIVNIMKALINUA
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A 6 36 1 JKHJIast 20,2 20,2
2 caHy3en 4,5 4,5
3 JKHJIast 17,0 17,0
4 KOpHUIOp 14,8 14,8
5 KyXHS 17,3 17,3
6 JKHJIast 15,7 15,7
7 Tyajer 2,4 2,4
HTOI0 91,9 52,9 39,0
0OanKoH 1,0
JIOIKUS 2,8
1 JKHJIast 17,5 17,5
2 KYXHS 11,9 11,9
3 caHy3en 4,5 4,5
4 KOpHUJIOp 7.4 7,4
HTOro 41,3 17,5 23,8
OaJIKOH 1,1
1 Kuas 16,3 16,3
2 KyXHs 12,6 12,6
3 caHysen 4,4 4,4
4 KOPHUIIOp 75 7,5
HTOro 40,8 16,3 24,5
OaKOH 1,2
1 JKUITas 17,4 17,4
2 KyXHs 12,6 12,6
3 caHysen 4,4 4,4
4 KOpPHIOp 79 79
HUTOr0 42,3 17,4 24,9
OanKoH 1,9
1 SKUIast 13,3 13,3
2 KUIas 18,8 18,8
3 KyXHS 12,2 12,2
4 BaHHAas 3,0 3,0
5 Tyaser 2,1 2,1
6 KOPHJIOp 8,8 8,8
HTOI0 58,2 32,1 26,1
JIOIKHS 3,6
1 KU 17,1 17,1
2 KUIas 15,5 15,5
3 KyXHS 13,2 13,2
4 BaHHAsA 2,8 2,8
5 Tyanet 1,6 1,6
6 KOPHAOD 11,7 11,7
HTOro 61,9 32,6 29,3
OaJIKOH 1,1




IKCIVNIMKALINUA

K M03TAKHOMY ILIaHY KMJIOT0 A0MAa, PACIIOJI0KEHHOT0 B rop. (moc.)  SpociaaBib

no yJi.(nep.) Cosxo3nasi 1. 14,16
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6 42 1 JKHJIast 20,6 20,6
2 BaHHast 3,2 3,2
3 TyajeT 1,6 1,6
4 JKHIIast 15,8 15,8
5 KyXHsI 13,3 13,3
6 KOpHIOp 9,1 9,1
HTOro 63,6 36,4 27,2
0OaIKoH 1,1
82 1 JKHJIast 16,8 16,8
2 Tyajer 2,3 2,3
3 BaHHAs 3,5 3,5
4 Kuas 15,2 15,2
5 JKUIas 18,7 18,7
6 KyXHS 15,8 15,8
7 KOpPHJIOP 14,1 14,1
HTOro 86,4 50,7 35,7
OaJIKOH 2,1
83 1 JKUIas 17,4 17,4
2 KyXHS 13,9 13,9
3 KOpPHIOp 6,8 6,8
4 caHy3en 4,3 4,3
HTOTO 42,4 17,4 25,0
GaJIKOH 1,1
84 1 JKUIas 18,1 18,1
2 KYXHS 13,0 13,0
3 caHy3en 4,3 4,3
4 KOPHAOD 8,2 8,2
HTOr0 43,6 18,1 25,5
JIOJKUS 3,5
85 1 KA 17,7 17,7
2 KyXHS 13,8 13,8
3 KOpPHIOp 6,7 6,7
4 caHysen 4,3 4,3
HTOI0 42,5 17,7 24,8
0aIKoH 1,1
86 1 SKUnast 16,8 16,8
2 Tyajer 2,4 2,4
3 BaHHAs 3,6 3,6
4 JKuIas 15,2 15,2
5 SKHJIast 18,8 18,8
6 KYXHS 16 16
7 KOpHUIIOP 14,0 14,0
HTOr0 86,8 50,8 36
OanKoH 2,1




IKCIVNIMKALINUA

K M03TAKHOMY ILIaHY KMJIOT0 10MAa, PACIOJI0KEHHOT0 B rop. (moc.)  SpociaBib
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A 6 122 1 JKHJIast 16,6 16,6
2 BaHHAas 34 34
3 TyajeT 1,6 1,6
4 JKUITAs 17,2 17,2
5 KyXHs 10,9 10,9
6 KOpHUIOp 9,0 9,0
HTOro 58,7 33,8 24,9
0OaIKoH 1,0
123 1 JKHJIast 16,3 16,3
2 Kuas 13,3 13,3
3 KyXHS 12,2 12,2
4 TyaneT 2,2 2,2
5 KOPHUIIOP 14,7 14,7
6 BaHHast 4,4 4.4
HTOTO 63,1 29,6 33,5
OaJIKOH 1,1
124 1 Kuas 16,2 16,2
2 caHy3en 4,3 4,3
3 KOpHIOp 9,3 9,3
4 KyXHS 12,0 12,0
HTOr0 41,8 16,2 25,6
JTOJIKUS 3,2
125 1 JKUIas 21,1 21,1
2 KUast 13,2 13,2
3 KYXHSI 13,6 13,6
4 Tyaner 1,6 1,6
5 BaHHS 3,2 3,2
6 KOpHIOP 13,8 13,8
HTOI0 66,5 34,3 32,2
JIOKUS 2,5
126 1 SKUnast 16,4 16,4
2 caHy3el 5,3 5,3
3 KHJIast 17,6 17,6
4 KYXHS 15,4 15,4
5 Tyaner 2,1 2,1
| | 6 KOpHI0p 9,1 9,1
HTOro 65,9 34,0 31,9
JIOJIKUS 3,1
B EGA R KHas 17,2 17,2
2 Tyaner 2,2 2,2
3 BaHHAsA 3,6 3,6
4 SKHJIast 18,3 18,3
5 KYXHS 14,6 14,6
6 KOpHUIIOP 8,0 8,0
HTOro 63,9 35,5 28,4
o - | | JIOJKHS 1,7
I | OaJIKOH 1,1




IKCIVNIMKALINUA

K M03TAKHOMY ILIaHY KMJIOT0 10MAa, PACIOJI0KEHHOT0 B rop. (moc.)  SpociaBib
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6 158 1 KUIIas 17,8 17,8
2 KyXHS 12,6 12,6
3 caHy3eln 4,3 4,3
4 KOpHIIOp 7,9 7,9
HTOI0 42,6 17,8 24,8
JIOJKUSA 3,2
159 1 KUIIas 17,8 17,8
2 KyXHS 12,6 12,6
3 caHy3en 4,3 4,3
4 KOPHUIIOP 8 8
HTOTO 42,7 17,8 24,9
JIOIDKHS 1,7
160 1 Kuas 17,2 17,2
2 Tyayuet 2,3 2,3
3 BaHHAs 3,7 3,7
4 JKUIas 19,0 19
5 KyXHsl 15,4 15,4
6 KOPHZODP 8,0 8,0
UTOTr0 65,6 36,2 29,4
OanKoH 1,1
|
T HTOTO 110 6 TaKy 12125 | 6151 597,4
- - JIOKM U, OATKOHBI 43,4




IKCIVNIMKALINUA

K M03TAKHOMY ILIaHY KMJIOT0 A0MAa, PACIIOJI0KEHHOT0 B rop. (moc.)  SpociaaBib
no yJi.(nep.) Cosxo3nasi 1. 14,16
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se|l v=E3 |zl g_EZEi |e:2E = : -
SelEScEE4EE| 2TEEg: |2:E:E| o = |E_5|=z| & |& SEE
sS(EE[EE49358| 522z |2EgaZ| EZ 5 |SsE| £ E |53 gEz
sEPEEEZ|CE| EFzegf |sEice| £ : |32 &2| 5 |23 =2:
= = - £ = = 2 =
= £ (= = = ; 52 = 2 = E E (=) E ]
A 7 43 1 JKHJIast 20,1 20,1
2 caHy3en 4,5 4,5
3 Kuas 16,9 16,9
4 KOpHUIOp 14,8 14,8
5 KyXHs 17,3 17,3
6 JKHJIast 15,7 15,7
7 Tyaner 2,4 2,4
HTOI0 91,7 52,7 39,0
0OanKoH 1,0
JIOIKUS 2,8
1 JKHJIast 17,5 17,5
2 KYXHS 11,9 11,9
3 caHy3en 4,5 4,5
4 KOpHUJIOp 7.4 7,4
HTOro 41,3 17,5 23,8
OaJIKOH 1,1
1 Kuas 16,3 16,3
2 KyXHS 12,6 12,6
3 caHysen 4,4 4,4
4 KOPHUIIOp 75 7,5
HTOro 40,8 16,3 24,5
OaKOH 1,2
1 JKUIast 17,4 17,4
2 KyXHs 12,6 12,6
3 caHysen 4,4 4,4
4 KOpPHIOp 79 79
HUTOr0 42,3 17,4 24,9
OanKoH 1,9
1 SKUnast 13,3 13,3
2 KUIas 18,8 18,8
3 KyXHS 12,2 12,2
4 BaHHAas 3,0 3,0
5 Tyaser 2,1 2,1
6 KOPHJIOp 8,8 8,8
HTOI0 58,2 32,1 26,1
JIOIKHS 3,6
1 JKUITas 17,1 17,1
2 KUIas 15,5 15,5
3 KyXHS 13,2 13,2
4 BaHHAsA 2,8 2,8
5 Tyanet 1,6 1,6
6 KOPHAOD 11,7 11,7
HTOro 61,9 32,6 29,3
OaJIKOH 1,1




IKCIVNIMKALINUA

K M03TAKHOMY ILIaHY KMJIOT0 A0MAa, PACIIOJI0KEHHOT0 B rop. (moc.)  SpociaaBib

no yJi.(nep.) Cosxo3nasi 1. 14,16
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7 49 1 JKHJIast 20,6 20,6
2 BaHHast 3,2 3,2
3 TyajeT 1,6 1,6
4 JKHIIast 15,8 15,8
5 KyXHsI 13,3 13,3
6 KOpHIOp 9,1 9,1
HTOro 63,6 36,4 27,2
0OaIKoH 1,1
87 1 JKHJIast 16,8 16,8
2 Tyajer 2,3 2,3
3 BaHHAs 3,5 3,5
4 Kuas 15,3 15,3
5 JKUIas 18,8 18,8
6 KyXHS 15,7 15,7
7 KOpPHJIOP 14,1 14,1
HTOro 86,5 50,9 35,6
OaJIKOH 2,1
88 1 JKUIas 17,4 17,4
2 KyXHS 13,9 13,9
3 KOpPHIOp 6,6 6,6
4 caHy3en 4,3 4,3
HTOTO 42,2 17,4 24,8
GaJIKOH 1,1
89 1 JKHUITAs 18,2 18,2
2 KYXHS 13,1 13,1
3 caHy3en 4,3 4,3
4 KOPHIOP 8,2 8,2
HTOr0 43,8 18,2 25,6
JIOJKUS 3,5
90 1 KUIas 17,6 17,6
2 KyXHS 13,9 13,9
3 KOpPHIOp 6,7 6,7
4 caHysen 4,3 4,3
HTOI0 42,5 17,6 24,9
0aIKoH 1,1
91 1 SKUnast 16,8 16,8
2 Tyajer 2,4 2,4
3 BaHHAs 3,6 3,6
4 KUIas 15,3 15,3
5 SKHJIast 18,8 18,8
6 KYXHS 15,9 15,9
7 KOpHUIIOP 14,0 14,0
HTOr0 86,8 50,9 35,9
OanKoH 2,1




IKCIVNIMKALINUA

K M03TAKHOMY ILIaHY KMJIOT0 10MAa, PACIOJI0KEHHOT0 B rop. (moc.)  SpociaBib
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A 7 127 1 JKHJIast 16,6 16,6
2 BaHHAas 34 34
3 TyajeT 1,6 1,6
4 JKUITAs 17,1 17,1
5 KyXHs 10,9 10,9
6 KOpHUIOp 9,0 9,0
HTOro 58,6 33,7 24,9
0OaIKoH 1,0
128 1 JKHJIast 16,3 16,3
2 KHJIast 13,4 13,4
3 KyXHS 12,2 12,2
4 TyaneT 2,2 2,2
5 KOPHUIIOP 14,7 14,7
6 BaHHast 4,4 4.4
HTOTO 63,2 29,7 33,5
OaJIKOH 1,1
129 1 Kuas 171 17,1
2 caHy3en 4,3 4,3
3 KOpHIOp 8,8 8,8
4 KyXHS 11,8 11,8
HTOI0 42,0 17,1 249
JTOJIKUS 3,2
130 1 JKUIas 21,0 21,0
2 KUast 13,3 13,3
3 KYXHSI 13,6 13,6
4 Tyaner 1,6 1,6
5 BaHHS 3,3 3,3
6 KOpHIOP 13,7 13,7
UTOro 66,5 34,3 32,2
JIOKUS 2,5
131 1 JKHIIast 16,5 16,5
2 caHy3el 52 52
3 KHJIast 17,6 17,6
4 KyXHS 15,5 15,5
5 Tyaner 2,1 2,1
| | 6 KOpHI0p 9,1 9,1
HTOro 66,0 34,1 31,9
JIOJIKUS 3,1
G KHas 17,2 17,2
2 Tyaner 2,2 2,2
3 BaHHAsA 3,6 3,6
4 SKHJIast 18,2 18,2
5 KYXHS 14,7 14,7
6 KOpHUIIOP 8,0 8,0
HTOro 63,9 35,4 28,5
o - | | JIOJKHS 1,7
I | OaJIKOH 1,1
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7 162 1 KUIIas 17,8 17,8
2 KyXHS 12,7 12,7
3 caHy3eln 4,3 4,3
4 KOpHIIOp 7,9 7,9
HTOI0 42,7 17,8 24,9
JIOJKUSA 3,2
163 1 KUIIas 17,8 17,8
2 KyXHS 12,7 12,7
3 caHy3en 4,3 4,3
4 KOPHUIIOP 8 8
HUTOTO 42,8 17,8 25
JIOIDKHS 1,7
164 1 Kuas 17,2 17,2
2 Tyayuet 2,3 2,3
3 BaHHAs 3,7 3,7
4 JKUIas 19,0 19
5 KyXHs 15,5 15,5
6 KOPHZODP 8,0 8,0
UTOrO 65,7 36,2 29,5
OanKoH 1,1
|
T UTOTO 110 7 STaKy 12130 | 6161 596,9
- - JIOKM U, OATKOHBI 43,4
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A 8 50 1 JKHJIast 20,2 20,2
2 caHy3en 4,5 4,5
3 JKHJIast 17,0 17,0
4 KOpHUIOp 14,8 14,8
5 KyXHs 17,3 17,3
6 JKHJIast 16,0 16,0
7 Tyaner 2,4 2,4
HTOI0 92,2 53,2 39,0
0OanKoH 1,0
JIOIKUS 2,8
1 JKHJIast 17,5 17,5
2 KYXHS 11,9 11,9
3 caHy3en 4.4 4,4
4 KOpHUJIOp 7.4 7,4
HTOTO 41,2 17,5 23,7
OaJIKOH 1,1
1 Kuas 16,3 16,3
2 KyXHS 12,6 12,6
3 caHy3el 4,3 4,3
4 KOPHUIIOp 75 7,5
HTOI0 40,7 16,3 24,4
OaKOH 1,2
1 JKUITas 17,7 17,7
2 KyXHs 12,6 12,6
3 caHy3en 4,3 4,3
4 KOpPHIOp 79 79
HUTOr0 42,5 17,7 24,8
OanKoH 1,9
1 KHJIast 13,4 13,4
2 KUIas 19,0 19,0
3 KyXHS 12,1 12,1
4 BaHHAas 3,0 3,0
5 Tyaser 2,1 2,1
6 KOPHJIOp 8,8 8,8
HTOI0 58,4 32,4 26,0
JIOIKHS 3,6
1 JKUITas 17,1 17,1
2 KUIas 15,5 15,5
3 KyXHS 13,3 13,3
4 BaHHAsA 2,8 2,8
5 Tyanet 1,6 1,6
6 KOPHAOD 11,7 11,7
HTOro 62,0 32,6 29,4
OaJIKOH 1,1
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8 56 1 JKHJIast 20,6 20,6
2 BaHHast 3,2 3,2
3 TyajeT 1,6 1,6
4 JKHIIast 15,8 15,8
5 KyXHs 13,4 13,4
6 KOpHIOp 9,1 9,1
HTOro 63,7 36,4 27,3
0OaIKoH 1,1
92 1 JKHJIast 16,7 16,7
2 Tyajer 2,3 2,3
3 BaHHAs 3,5 3,5
4 Kuas 15,3 15,3
5 JKUIas 18,8 18,8
6 KyXHS 15,8 15,8
7 KOpPHJIOP 14,1 14,1
HTOro 86,5 50,8 35,7
OaJIKOH 2,1
93 1 JKHJIast 17,5 17,5
2 KyXHS 13,9 13,9
3 KOpHUJIOP 6,7 6,7
4 caHy3en 4,3 4,3
HTOTO 42,4 17,5 24,9
GaJIKOH 1,1
94 1 JKUIas 18,1 18,1
2 KYXHS 13,1 13,1
3 caHy3en 4,3 4,3
4 KOPHAOD 8,2 8,2
HTOr0 43,7 18,1 25,6
JIOJKUS 3,5
95 1 KA 17,7 17,7
2 KyXHS 14,0 14,0
3 KOpPHIOp 6,7 6,7
4 caHysen 4,3 4,3
HTOro 42,7 17,7 25,0
0aIKoH 1,1
96 1 SKUnast 16,8 16,8
2 Tyajer 2,4 2,4
3 BaHHAs 3,6 3,6
4 JKuIas 15,2 15,2
5 SKHJIast 18,8 18,8
6 KYXHS 16 16
7 KOpHUIIOP 14,0 14,0
HTOr0 86,8 50,8 36
OanKoH 2,1
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A 8 132 1 JKHJIast 16,7 16,7
2 BaHHAas 34 34
3 TyajeT 1,6 1,6
4 JKUITAs 17,2 17,2
5 KyXHs 10,9 10,9
6 KOpHUIOp 9,1 9,1
HTOro 58,9 33,9 25,0
0OaIKoH 1,0
133 1 JKHJIast 16,2 16,2
2 Kuas 13,3 13,3
3 KyXHS 12,2 12,2
4 TyaneT 2,2 2,2
5 KOPHUIIOP 14,8 14,8
6 BaHHast 4,4 4.4
HTOTO 63,1 29,5 33,6
OaJIKOH 1,1
134 1 Kuas 171 17,1
2 caHy3en 4,3 4,3
3 KOpHIOp 8,8 8,8
4 KyXHS 11,8 11,8
HTOI0 42,0 17,1 249
JTOJIKUS 3,2
135 1 JKUIas 21,0 21,0
2 KUast 13,3 13,3
3 KYXHSI 13,6 13,6
4 Tyaner 1,6 1,6
5 BaHHS 3,3 3,3
6 KOpHIOP 13,7 13,7
HTOI0 66,5 34,3 32,2
JIOKUS 2,5
136 1 SKUnast 16,4 16,4
2 caHy3el 52 52
3 KU 17,5 17,5
4 KyXHs 15,4 15,4
5 Tyaner 2,0 2,0
I | 6 KOpPHIOp 9,0 9,0
HTOI0 65,5 33,9 31,6
JIOJIKUS 3,1
s | 1 KHas 17,3 17,3
2 Tyaner 2,2 2,2
3 BaHHAsA 3,6 3,6
4 Kuas 18,4 18,4
5 KYXHS 14,8 14,8
6 KOpHUIIOP 8,0 8,0
HTOro 64,3 35,7 28,6
o - | | JIOJKHS 1,7
I | OaJIKOH 1,1
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K M03TAKHOMY ILIaHY KMJIOT0 10MAa, PACIOJI0KEHHOT0 B rop. (moc.)  SpociaBib

no yJi.(nep.) Cosxo3nasi 1. 14,16
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8 166 1 JKHJIast 17,8 17,8
2 KyXHS 12,7 12,7
3 caHy3eln 4,3 4,3
4 KOpHIIOp 7,9 7,9
HTOro 42,7 17,8 24,9
JIOJKUSA 3,2
167 1 JKHJIast 17,8 17,8
2 KyXHS 12,6 12,6
3 caHy3en 3,7 3,7
4 KOPHUIIOP 8 8
HTOr0 42,1 17,8 24,3
TIOMKHS 1,7
168 1 Kuas 17,2 17,2
2 Tyayuet 2,3 2,3
3 BaHHAs 3,7 3,7
4 JKUIas 19,0 19
5 KyXHs 15,5 15,5
6 KOPHZODP 8,0 8,0
HUTOTO 65,7 36,2 29,5
OaJIKOH 1,1
HTOTO N0 8 ITaXKy 1213,6 617,2 596,4
JIOJIZKMH, 0AJTKOHBI 43,4
HUTOTr0 10 J0MY 9700,8 49259 47749
JIOJKMH U OAJIKOHBI 347,2
12821,6
HToro no oMy ¢ moJBajIoM,HacOCOi,BOTOMEPHBIM y3IIOM,
9ILIUTOBOM, MOMEIIEHHEM YOOPOUHOTO HHBEHTOPS,
T TaMH, JTODKHIMH, OankoHaMH, X03 6iokamu 1 MOIT
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MOI] 1 A 1 TamOyp 3,9 3,9

5 JIECTHHUIIA 8,8 8,8

2 6 JIECTHUILIA 12,9 12,9

3 8 JIECTHHUILIA 12,9 12,9

4 10 JIECTHULIA 12,9 12,9

5 12 JIECTHHUILIA 12,9 12,9

6 14 JIECTHULA 12,9 12,9

7 16 JIECTHHUILIA 12,9 12,9

8 18 JIECTHULIA 12,9 12,9

yepaax 20 JIECTHHUILIA 75 7,5

HTOr0 110,5 110,5

1 b 1 TamOyp 4,6 4,6

JIECTHUIIA 7,3 7,3

2 8 JIECTHULA 12,0 12,0

3 12 JIGCTHUIIA 12,0 12,0

4 16 JIECTHULA 12,0 12,0

5 20 JIECTHUIA 12,0 12,0

6 24 JIeCTHHIA 12,0 12,0

7 28 JIECTHHUIIA 12,0 12,0

8 32 JIECTHULA 12,0 12,0

yepaak 36 JIECTHHLA 6,9 6,9

HTOr0 102,8 102,8

1 B 1 TamOyp 4,5 4,5

6 JIECTHUIA 7,4 7.4

2 7 JIECTHULA 12,1 12,1

3 10 JIECTHHIIA 12,1 12,1

4 13 JIECTHULA 12,1 12,1

5 16 JIECTHHIIA 12,1 12,1

6 19 JIECTHULA 12,1 12,1

7 22 JIeCTHHIA 12,1 12,1

8 25 JIECTHULA 12,1 12,1

gepaak 28 JIECTHUIA 6,8 6,8

HTOTO 103,4 103,4

T 1 TamOyp 4,5 45

| | | 7 JIECTHULIA 7,3 7,3

2 8 JIECTHULA 12,8 12,8

3 12 JIECTHHUIA 12,8 12,8

4 16 JIECTHULA 12,8 12,8

| 5 | | 20 JIECTHULIA 12,8 12,8

6 24 JIECTHULA 12,8 12,8

7 28 JIECTHHIIA 12,8 12,8

8 32 JIECTHULA 12,8 12,8

yepaak 37 JIECTHUIA 6,9 6,9

HTOIO 108,3 108,3

HTOI0 425,0 425,0
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MOII 1 A 2 KOPHAOD 6,8 6,8
4 KOpHIOp 35,5 35,5
2 7 KOPHAOD 35,5 35,5
3 9 KOpHUIOp 35,5 35,5
4 11 KOPHAOD 35,5 35,5
5 13 KOpHIOp 35,5 35,5
6 15 KOPHAOD 35,5 35,5
7 17 KOpHUIOp 35,5 35,5
8 19 KOPHAOD 35,5 35,5
UTOro 290,8 290,8
1 b 2 KOPHAOD 5,8 5,8
KOpHIOp 10,1 10,1
2 10 KOPHAOD 10,1 10,1
3 14 KOpHIOp 10,1 10,1
4 18 KOPHAOD 10,1 10,1
5 22 KOpPHJIOP 10,1 10,1
6 26 KOPHAOD 10,1 10,1
7 30 KOPHUIIOP 10,1 10,1
8 34 KOPHAOD 10,1 10,1
HTOTO 86,6 86,6
1 B 2 KOPHZODP 4,6 4.6
3 KOPHAOD 9,2 9,2
4 KOPHIOP 14,4 14,4
2 8 KOPHAOD 9,2 9,2
9 KOPHUJIOp 14,4 14,4
3 11 KOPHAOD 9,2 9,2
12 KOpHJIOp 14,4 14,4
4 14 KOPHAOD 9,2 9,2
15 KOPHUJIOp 14,4 14,4
5 17 KOPHAOD 9,2 9,2
18 KOPHUJIOp 14,4 14,4
6 20 KOPHIOP 9,2 9,2
21 KOPHUJIOp 14,4 14,4
7 23 KOPHIOP 9,2 9,2
24 KOPHUJIOp 14,4 14,4
8 26 KOPHIOP 9,2 9,2
27 KOPHUJIOp 14,4 14,4
HTOTO 193,4 193,4
I I
I I
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MOII 1 Tr 2 KOPHAOD 5,7 57

3 KOpHIOp 2,9 2,9

4 KOPHAOD 10,9 10,9

5 KOpHUIOp 2,6 2,6

2 9 KOPHAOD 2,9 2,9

10 KOpHIOp 10,5 10,5

11 KOpHUJIOp 2,9 2,9

3 13 KOpHUIOp 29 2,9

14 KOPHAOD 10,5 10,5

15 KOpHIOp 29 2,9

4 17 KOPHAOD 29 2,9

18 KOPHUIIOP 10,5 10,5

19 KOpHUJIOp 2,9 2,9

5 21 KOPHUIIOP 2,9 2,9

22 KOPHAOD 10,5 10,5

23 KOPHUIIOP 2,9 2,9

6 25 KOPHAOD 29 2,9

26 KOPHUIIOP 10,5 10,5

27 KOpHUJIOp 2,9 2,9

7 29 KOPHUIIOP 2,9 2,9

30 KOPHAOD 10,5 10,5

31 KOPHUIIOP 2,9 2,9

8 33 KOPHAOD 29 2,9

34 KOPHZODP 10,5 10,5

35 KOpHUJIOp 2,9 2,9

HUTOTO 136,2 136,2

HTOI0 707,0 707,0

uroro no MOII 1132,0
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2 A 1 X030JI0K 3,2 3,2

2 X030JI0K 3,2 3,2

3 3 X030JI0K 3,3 3,3

4 X030JI0K 3,3 3,3

4 5 X030JI0K 3,2 3,2

6 X030JI0K 3,3 3,3

5 7 X030JI0K 3,2 3,2

8 X030JI0K 3,3 3,3

6 9 X030JI0K 3,2 3,2

10 X030JI0K 3,2 3,2

7 11 X030JI0K 3,2 3,2

12 X030JI0K 3,3 3,3

8 13 X030JI0K 3,2 3,2

14 X030JI0K 3,2 3,2

yepaak 15 X030JI0K 6,8 6,8

HTOr0 52,1 52,1

2 b 16 X030JI0K 5,8 58

3 17 X030JI0K 5,8 58

4 18 X030JI0K 5,8 58

5 19 X030JI10K 58 5,8

6 20 X030II0K 5,8 5,8

7 21 X030JI0K 5,8 58

8 22 X030II0K 5,8 5,8

yenaK 23 X030JI0K 5,8 58

UTOTO 46,4 46,4

2 B 24 X030JI0K 4.8 48

3 25 X030II0K 4.8 4.8

4 26 X030JI0K 4.8 48

5 27 X030II0K 4.8 4.8

6 28 X030JI0K 4.8 48

7 29 X030II0K 4.8 4.8

8 30 X030JI0K 4.8 4.8

YepaK 31 X030II0K 4.8 4.8

HTOr0 38,4 38,4

2 T 32 X030II0K 5,8 5,8

3 33 X030JI0K 5,8 5,8

4 34 X030II0K 5,8 5,8

5 35 X030JI0K 5,8 5,8

6 36 X030II0K 5,8 5,8

7 37 X030J10K 58 5,8

8 38 X03010K 5,8 5,8

| uepnax | | 39 X030J10K 5,8 5,8

HUTOTO 46,4 46,4

I | BCero 183,3







































































































1213,5 615,8 597,7 43,4

1213,1 616,2 596,9 43,4
1212,6 615,8 596,8 43,4
1210,3 614,6 595,7 43,4
1212,2 615,1 597,1 43,4
1212,5 615,1 597.,4 43,4

1213 616,1 596,9 43,4
1213,6 617,2 596,4 43,4

9700,8 4925,9 47749 347,2
347,2
20
13,7
8,5
10
59
1132
183,3

1400,2



